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Question 1- A person have two types of rice
costing Rs. 220 per kg and Rs. 300 per kg. In
what ratio must he mix them so that he will gai
25% after selling it for Rs 360.

I 1- Uk 1<k o 919 &l T o FATIA g (ol

FHd 220 =9 It e 07 300 gt

N o

N N N Lo =
[t [ U+ %| 3H g [hY YT ﬁ- (Al Allgd adllen

[N I\

a2 =9 360 TIT H I & 918 25% il g FL?
A.3:"

B.2:"
C.3:1
D.4:17

E.None of

N~ O

these
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19 Question 2- There are 6 men and 4 women in a
A-g group. Another group of 4 person is to be formed
what is the probability that at least one women in
B.% the new group?

ST 2- Teh 9HE H 6 T2V X 4 HigATU 2| 4 <R
~13 T Teh T U I9TIT AT 8, 70 99 H FH 9
25 0o Higell o THHT g hl TTHAhdT AT 872

13
14

E.None of
these
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Question 3- A bag contains 5 white and 3 green

2

A7 balls. Four balls are drawn one by one but not
c replaced. Find the probability that balls are

5. 2 alternatively of different color?

- 5T 3- Teh VT | 5 AT 31T 3 g4 (e g1 AT Qi &l

- ek @1 ST g oAb JTqeqTiad Tai (AT
. STAT 81 S &7 sl TTHARAT ST i ToTT [oh Ta dehicdeh
D. o =9 F forer T At et 87

E.None of these
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4% Question 4- A bicycle can be purchased on cash
3 payment of Rs. 1500. The same bicycle can also be
58%, purchased at the dqwn payment (initial payment, at
3 the time of purchasing) of Rs. 350 and rest can be
paid in 3 equal instalilments of Rs. 400 for next 3
¢22%  months. The rate of Sl per annum??
’ T 4- 1500 T & Thad YA I TS (ohel Gl ST
TR g1 IHT "ATZheT 3l 350 T F T3 UHE (TS
HHIT YTLIHE GIATH) T AT GLURT AT FhaT @ AL T
T SFTATH 3T 3 HalA1 & [T 400 ¥4 sl 3 THTA

DX,
3

E.None Ofsreq # farar sm #rear £1 wfa =t SI Y 27 a7 27

these
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TOTAL GIRLS

TOTAL STUDENTS = 19000

30000

EH CLASS ABCLASSBECLASSC I CLASS A B CLASS B ECLASS C
BCLASSDH B CLASS D@




IBPS PO Pre MOCK TEST i7

Question 5- Total number of boys In A is

what percent more or less than the girls in
C?

T 5- A H F=ehi L T 4T, C | A

Sl =T | Tohae Snc?r AT AT FH 27

TOTAL STUDENTS = 30000

TOTAL GIRLS 12000 A.30%
B.35%
C.25%
D.40%
mciassAamciassBmciassc  E-20%

B CLASS A B CLASS B mICLASS ¢ T CHASSDE

ECLASSDHE
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Question 6- Find the difference
between the boys in A and D?

T97 6- A 3T D & TSt & 19 5T A<
ST F TR
TOTAL STUDENTS = 30000 '

TOTAL GIRLS 12000 A.2000

B.2020
8% S C.3020
5% 50 D.1920
B CLASS A m CLASS B m cLass cE-None of
ECLASS DM these

HCLASS AEBCLASSBECLASS C
ECLASSDHE
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Question 7- Find the central angle
for boys in class C.

T 7- 7 C H ASHI o [T Fnld
TOTAL STUDENTS = 3000%1°T 1A TS

TOTAL GIRLS 12000

A.30°
B.50°
C.80°
D.72°

E.None of
B CLASS ABCLASSBECLASS C these

LA D
B CLASS A B CLASS B mICLASS ¢ T CHASSDE

ECLASSDHE
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Question 8- Total number of boys in A is
what percent of total number of girls in B?

I 8- A H ASh[ bl el 9T, B § =y it

%l F&AT T TeohadT ITq9rd 872

TOTAL STUDENTS = 30000 A 100%

B.121%
C.151.66%
D.29%
E.None of
these

ECLASS ABCLASS BB CLASS Cyciassa mCLASSE BCLASSC WCLASSD
BCLASSD®E

TOTAL GIRLS 12000
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Question 9- The area of a triangle is 336 ¢m? and
its height is 48 centimeter. Find the length of
rectangle whose breadth is equal to base of
triangle and perimeter of triangle is 168 cm.

I 9- U 3 336 HHT A2 & 31T Tkt
Uh %iwohl alh;gr

g%% Ml%’;ﬁl‘iﬁr
31T°o||<oh®|<|e|< T THTT
168 Tt %ﬁ b

A.80 cm
B.70 cm
C.50 cm
D.40 cm
E.None of
these
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Question 10- What will come in
place of question mark ?

757 10- I = o T 9 F41

STTAIT?

8,4.5,5.5, 13, 56, 456, ?
A.4500
B.4560
C.4570
D.5570
E.None of

these
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Question 11- What will come in
place of question mark ?

I 11- T 9T & T 97

ATTT?

8, 19, 88, 605, 5432, ?
A.57735
B.65756
C.59735
D.54435

E.69735
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Question 12- In how many ways letter of
word “ACCURATE’ be arranged so that
each word start with R and end with A.

T 12- T TR H 9Ted o 7T hT THTAI(X

“"ACCURATE" Ts3T STU T T4 9eZ R |
IF Bl ST 3T A 2l7?

A.120

B.30

C.60

D.80

E.None of
these
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Question 12- A person is running with a
speed of 20 Km/h. he also takes stop for 7
minutes after every 11 Km. Find the total
time takn to complete a distance for 120

Km.
0% ST

ST

1
120 T3HT =il 3 T 9T 9 § o9 dATAT e
fﬁéﬁl b T

NE RN

A.7 hour 24
minute

B.7 hours

C.7 hours 20

minutes
) alell (]
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Question 13- The ratio between the
difference of compound interest and simple
interest for 3 years and the difference
between compound interest and simple
iInterest for 2 years is 25:8. Find the rate
percent per annum.

T 13- 33&%%%@11% & SATST S |1

SUTST o (A< A 2 qW EEE|P- wm
ST HTLTIOT ST o ®|le el &jﬁ\lq&? 8%

B.12%
C.12.5%
D.15%
E.None of

gta a9 =% giaerd S7d ity







